TECfl har

keyourw rk
Fixing Systems

180 8001
18014001

Tecfi S.p.A. - Fixing Systems

Head Office:

S.S. Appia km.193 - 81050 Pastorano (CE) - Italy
tel. (+39).0823.88.33.38 - fax (+39).0823.88.32.60
www.tecfi.it info@tecfi.it

Declaration of Performance No 040883-BIM02
According to the Regulation EU No 305/2011

BIMO2 - BIMO02 with accessories
Manufacturer: Tecfi S.p.A. - S.S. Appia, km 193 - 81050 Pastorano (CE), Italia

1 - Intended use

Product-type:

Fastening screws for sandwich panels

Screw type:

Self-drilling screws for sandwich panels

Technical description of the product:

see Table 2

Specification of the intended use in accor
dance with the applicable EAD:

The intended use comprises fastening screws and connections for indoor and outdoor appli-
cations. Fastening screws which are intended to be used in external environments with < C2 cor
rosion according to the standard EN ISO 12944-2 are made of stainless steel.

Furthermor e the intended use comprises connections with predominantly static loads

(e.g. wind loads, dead loads). The performances given in Table 4 are only valid if anchor is used
in compliance with the specifications and conditions given in the Table 3

Base material:

steel substructures type: S235 - S280GD - S320GD - S350GD

Installation: see Table 3
Loading: static and quasi static load
The intended use comprises fastening screws and connections for indoor and outdoor appli-
cations. External environments with < C2 cor rosion according to the standard EN ISO 12944-2.
Durability: For the cor rosion protection the rules given in EN 1993-1-3, EN 1993-1-4 and EN 1999-1-4

shall be taken into account. The provisions made in the relevant European Technical Asses-
sment are based on an assumed wor king life of the fasteners of 25 years

Resistence to fire:

NPD

Reaction to fire:

The metal parts of fastening screws are considered to satisfy the requirements of performance
class Al of reaction to fire, in accor dance with the provisions of the EC Decision 96/603/EC (as
amended) without the need for testing on the basis of its listing in that decision.

European Assessment Document:

EAD 330047-01-0602 “Fastening screws for sandwich panels”

European Technical Document:

ETA 18/0713

Technical Assessment Body:

Instytut Techniki Budowlanej

Design methods:

Relevant parts of Eurocode and/or revelant national regulations

Assessment and verification of Constancy
of Performance:

No. 1020-CPR-010-040883

Notified Body:

TZUS - Technicky a Zku3ebni Ustav Stavebni Praha, s.p.

Under the system:

2+

www.tecfi.it | Declaration of Performance No 040883-BIM02 - v. 1.02




Tecfi S.p.A. - Fixing Systems
e c 1 ha r Head Office:

ke your work S.S. Appia km.193 - 81050 Pastorano (CE) - Italy
Fixing Systems 1509001 tel. (+39).0823.88.33.38 - fax (+39).0823.88.32.60
I 150 14001 www.tecfi.it info@tecfi.it

Declaration of Performance No 040883-BIM02
According to the Regulation EU No 305/2011

BIMO2 - BIMO02 with accessories
Manufacturer: Tecfi S.p.A. - S.S. Appia, km 193 - 81050 Pastorano (CE), Italia

2 - Type of screw

Item Description Finishing

Self drilling screw with hexagonal flat washer head BIMETAL (Stainless

BIMO2 Steel A2 + Carbon Steel), diameter 5.5 mm

Steel Saver 1000 h-R

Outside screw diameter

L Overall screw length

L1 Threaded plus bit length
A Wrench size

B Washer diameter

N, Characteristic breaking tensile load

V, Characteristic breaking shear load

3 - Installation

tN 1 upper sheet thickness of sandwich panel

tN 2 lower sheet thickness of sandwich panel

t, thickness of supporting structure

fComponente |
Sandwich panel

tw2 -
Component Il =
Metal
supporting structure
3.1 - Installation data for all lengths of BIMO02
Maximum drilling capacity 6 mm
Drilling speed 1000-1500 [rpm]

3.2 - Installation with accessories (except the accessories as per 3.3 below)

Installation sequence for accessor ies
included in this ETA

Declaration of Performance No 040883-BIMO02 - v. 1.02 | www.tecfi.it




Tecfi S.p.A. - Fixing Systems
ec l har Head Office:

ke vour work S.S. Appia km.193 - 81050 Pastorano (CE) - Italy
Fixing Systems 1509001 tel. (+39).0823.88.33.38 - fax (+39).0823.88.32.60
I 150 14001 www.tecfi.it info@tecfi.it

Declaration of Performance No 040883-BIM02
According to the Regulation EU No 305/2011

BIMO2 - BIMO02 with accessories
Manufacturer: Tecfi S.p.A. - S.S. Appia, km 193 - 81050 Pastorano (CE), Italia

3.3 - Installation instructions with umbrella gaskets

h  Height of the gasket before the installation

h Maximum height after installation (minimum crushing of the gasket)

h_. Minimum height after installation (maximum crushing of the gasket)

@  Example of an incorrect installation (b} Example of a perfect installation [© Example of an incorrect installation

In this case an insufficient torque In this case a correct torque Example of an incorrect installation:
was applied was applied (the height “h” is in this case an excessive torque was applied,
(the height “h” is greater than “hmax”) between “hmin” and “hmax”) and this will permanently damage the gasket

(the height “h” is less than “hmin”)

Item codes: Fl, CX, RZ e NF Item codes: FIM, CXM e NFM

EPDM umbrella gasket (@ 25), metal washer (@ 24) EPDM umbrella gasket (@ 16), metal washer (@ 19)

= — e R e
h= 12,5 mm =9,0mm =7,0mm h=10,3 mm h,= 6,5 mm o= 4,5 mm

Note: Wrong installation can damage the product and cause failures in performances

www.tecfi.it | Declaration of Performance No 040883-BIM02 - v. 1.02




Tecfi S.p.A. - Fixing Systems
e c 1 ha r Head Office:

ke your work S.S. Appia km.193 - 81050 Pastorano (CE) - Italy
Fixing Systems 1509001 tel. (+39).0823.88.33.38 - fax (+39).0823.88.32.60
I 150 14001 www.tecfi.it info@tecfi.it

Declaration of Performance No 040883-BIM02
According to the Regulation EU No 305/2011

BIMO2 - BIMO02 with accessories
Manufacturer: Tecfi S.p.A. - S.S. Appia, km 193 - 81050 Pastorano (CE), Italia

4 - Item code

Item code @ [mm] L [mm] L, [mm] iy min [MM] |t 0 [Mm] A [mm] B [mm]

BIM 02 55 026 26 Full thread 0,5 7 -t

BIM 02 55 030 30 Full thread 0,5 11-tn

BIM 02 55 040 40 Full thread 0,5 21 -t

BIM 02 55 050 50 Full thread 0,5 31-tu

BIM 02 55 070 70 60 15 51 - tu

BIM 02 55 090 5,5 90 60 35 71 -tu 8 12,8
BIM 02 55 110 110 60 55 91 - tu

BIM 02 55 130 130 60 75 111 -t

BIM 02 55 150 150 60 95 131 -t

BIM 02 55 180 180 60 125 161 -t

BIM 02 55 200 200 60 145 181 -t

Declaration of Performance No 040883-BIMO02 - v. 1.02 | www.tecfi.it




e tr Tecfi S.p.A. - Fixing Systems
w v Head Office:
to make yé:ur work S.S. Appia km.193 - 81050 Pastorano (CE) - Italy
— 50 5001 tel. (+39).0823.88.33.38 - fax (+39).0823.88.32.60

150 14001 www.tecfi.it info@tecfi.it

Declaration of Performance No 040883-BIM02
According to the Regulation EU No 305/2011

BIMO2 - BIMO02 with accessories
Manufacturer: Tecfi S.p.A. - S.S. Appia, km 193 - 81050 Pastorano (CE), Italia

5 - Declared performance according to EAD 330047-01-0602 - Screw only

Characteristic ty1orty, by
loads (component 1) (component II)
[KN]
0,78 0,78 0,78 0,78
1,19 1,19 1,19 1,19
1,19 1,19 1,19 1,19
1,51 1,51 1,51 1,51
1,76 1,76 1,76 1,76
Vi 1,76 1,76 1,76 1,76
1,76 1,76 1,76 1,76
1,76 1,76 1,76 -
1,76 1,76 1,76 -
1,76 1,76 1,76 -
1,76 1,76 1,76 -
0,39 0,39 0,39 0,39
0,47 0,47 0,47 0,47
0,47 0,47 0,47 0,47
0,7 0,7 0,7 0,7
0,87 0,87 0,87 0,87
Ny 0,87 0,87 0,87 0,87
0,87 0,87 0,87 0,87
0,87 0,87 0,87 -
0,87 0,87 0,87 -
0,87 0,87 0,87 i
0,87 0,87 0,87 -
Max. head Thickness of sandwich t
displacement panel (component II)
[mm]
u

www.tecfi.it | Declaration of Performance No 040883-BIM02 - v. 1.02




Tecfii

Fixing Systems

haake yé)ur work

1S0 9001

1S0 14001

Tecfi S.p.A. - Fixing Systems

Head Office:
S.S. Appia km.193 - 81050 Pastorano (CE) - Italy

tel. (+39).0823.88.33.38 - fax (+39).0823.88.32.60
www.tecfi.it

Declaration of Performance No 040883-BIM02

According to the Regulation EU No 305/2011

BIMO2 - BIMO2 with accessories
Manufacturer: Tecfi S.p.A. - S.S. Appia, km 193 - 81050 Pastorano (CE), Italia

6 - Accessories for BIMO02 covered by ETA*

Item code Image Dimension Material Washer color
" i Aluminium with EPDM bonded washer
CB 02 67 016 ’W 6,7x 16 mm (gasket) -

* Accessories covered by European Technical Assessment, if installed with Tecfi ETA-CE screws

6.1 - Declared performance according to EAD 330047-01-0602 of the screw with an accessory of tab.6

Characteristic
loads

[KN]

Vi

Max. head
displacement

[mm]

tN,l or tN,Z

(component 1)

Thickness of sandwich
panel

t,

(component I1)

see Tab. 5
1,43 1,43 1,43 1,43
2,37 2,37 2,37 2,37
2,37 2,37 2,37 2,37
2,45 3,08 3,08 3,08
2,45 3,48 3,48 3,48
2,45 3,48 3,48 3,48
2,45 3,48 3,48 3,48
2,45 3,48 3,48 -
2,45 3,48 3,48 -
2,45 3,48 3,48 -
2,45 3,48 3,48 -

by
(component I1)
see Tab. 5

Declaration of Performance No 040883-BIMO02 - v. 1.02 | www.tecfi.it



Tecfi S.p.A. - Fixing Systems

Head Office:

S.S. Appia km.193 - 81050 Pastorano (CE) - Italy
tel. (+39).0823.88.33.38 - fax (+39).0823.88.32.60
info@tecfi.it

Tecfiill .

ake ourw ork
Fixing Systems E

150 9001 o
150 14001 www.tecfi.it

Declaration of Performance No 040883-BIM02
According to the Regulation EU No 305/2011

BIMO2 - BIMO2 with accessories
Manufacturer: Tecfi S.p.A. - S.S. Appia, km 193 - 81050 Pastorano (CE), Italia

7 - Accessories for BIMO02 covered by ETA*

Item code Image Dimension Material Washer color
" i Aluminium with EPDM bonded washer
CB 02 67 019 ’W 6,7x 19 mm (gasket) -

* Accessories covered by European Technical Assessment, if installed with Tecfi ETA-CE screws

7.1 - Declared performance according to EAD 330047-01-0602 of the screw with an accessory of tab.7

Characteristic ty1orty, by
loads (component |) (component ")
[KN]
Ve see Tab. 5
1,59 1,59 1,59 1,59
2,45 2,49 2,49 2,49
2,45 2,49 2,49 2,49
2,45 3,17 3,17 3,17
2,45 3,82 3,82 3,82
Ny 2,45 3,82 3,82 3,82
2,45 3,82 3,82 3,82
2,45 3,82 3,82 -
2,45 3,82 3,82 -
2,45 3,82 3,82 -
2,45 3,82 3,82 -
Max. head Thickness of sandwich t,
displacement panel (component I1)
[mm]
u see Tab. 5

www.tecfi.it | Declaration of Performance No 040883-BIM02 - v. 1.02




Tecfi S.p.A. - Fixing Systems
e c l h a Head Office:

ake our work S.S. Appia km.193 - 81050 Pastorano (CE) - Italy
Fixing Systems % 150 9001 tel. (+39).0823.88.33.38 - fax (+39).0823.88.32.60
150 14001 www.tecfi.it info@tecfi.it

Declaration of Performance No 040883-BIM02
According to the Regulation EU No 305/2011

BIMO2 - BIMO2 with accessories
Manufacturer: Tecfi S.p.A. - S.S. Appia, km 193 - 81050 Pastorano (CE), Italia

8 - Accessories for BIMO02 covered by ETA*

Item code Image Dimension Material Washer color
" i Aluminium with EPDM bonded washer
CB 02 67 025 ’W 6,7 x 25 mm (gasket) -

* Accessories covered by European Technical Assessment, if installed with Tecfi ETA-CE screws

8.1 - Declared performance according to EAD 330047-01-0602 of the screw with an accessory of tab.8

Characteristic ty1orty, by
loads (component |) (component ")
[KN]
Ve see Tab. 5
2,41 2,41 2,41 2,41
2,45 3,84 3,89 3,89
2,45 3,84 3,89 3,89
2,45 3,84 5,01 5,01
2,45 3,84 5,73 5,73
[\ 2,45 3,84 5,73 5,73
2,45 3,84 5,73 5,73
2,45 3,84 5,73 -
2,45 3,84 5,73 -
2,45 3,84 5,73 -
2,45 3,84 5,73 -
Max. head Thickness of sandwich t,
displacement panel (component I1)
[mm]
u see Tab. 5

Declaration of Performance No 040883-BIMO02 - v. 1.02 | www.tecfi.it




Tecfi S.p.A. - Fixing Systems
e c l h a Head Office:

ake our work S.S. Appia km.193 - 81050 Pastorano (CE) - Italy
Fixing Systems % 150 9001 tel. (+39).0823.88.33.38 - fax (+39).0823.88.32.60
150 14001 www.tecfi.it info@tecfi.it

Declaration of Performance No 040883-BIM02
According to the Regulation EU No 305/2011

BIMO2 - BIMO2 with accessories
Manufacturer: Tecfi S.p.A. - S.S. Appia, km 193 - 81050 Pastorano (CE), Italia

9 - Accessories for BIMO02 covered by ETA*

Item code Image Dimension Material Washer color
; A2 (AISI 304) stainless steel with EPDM
CB 03 67016 ’W 6,7 x16 mm bonded washer (gasket)

* Accessories covered by European Technical Assessment, if installed with Tecfi ETA-CE screws

9.1 - Declared performance according to EAD 330047-01-0602 of the screw with an accessory of tab.9

Characteristic tyiortn, by
loads (component |) (component ")
[KN]
Vi see Tab. 5
1,98 1,98 1,98 1,98
2,45 2,7 2,7 2,7
2,45 2,7 2,7 2,7
2,45 3,4 3,4 3,4
2,45 3,7 3,7 3,7
Ny 2,45 3,7 3,7 3,7
2,45 3,7 3,7 3,7
2,45 3,7 3,7 -
2,45 3,7 3,7 -
2,45 3,7 3,7 _
2,45 3,7 3,7 -
Max. head Thickness of sandwich Gr
displacement panel (component I1)
[mm]
u see Tab. 5

www.tecfi.it | Declaration of Performance No 040883-BIM02 - v. 1.02




Tecfi S.p.A. - Fixing Systems
e c l h a Head Office:

ake our work S.S. Appia km.193 - 81050 Pastorano (CE) - Italy
Fixing Systems % 150 9001 tel. (+39).0823.88.33.38 - fax (+39).0823.88.32.60
150 14001 www.tecfi.it info@tecfi.it

Declaration of Performance No 040883-BIM02
According to the Regulation EU No 305/2011

BIMO2 - BIMO2 with accessories
Manufacturer: Tecfi S.p.A. - S.S. Appia, km 193 - 81050 Pastorano (CE), Italia

10 - Accessories for BIMO02 covered by ETA*

Item code Image Dimension Material Washer color
i : A2 (AISI 304) stainless steel with EPDM
CB 0367019 ’W 6,7 x13 mm bonded washer (gasket)

* Accessories covered by European Technical Assessment, if installed with Tecfi ETA-CE screws

10.1 - Declared performance according to EAD 330047-01-0602 of the screw with an accessory of tab.10

Characteristic ty1orty, by
loads (component |) (component ")
[KN]
Ve see Tab. 5
2,14 2,14 2,14 2,14
2,45 2,83 2,83 2,83
2,45 2,83 2,83 2,83
2,45 3,78 3,78 3,78
2,45 3,84 4,17 4,17
Ny 2,45 3,84 4,17 4,17
2,45 3,84 4,17 4,17
2,45 3,84 4,17 -
2,45 3,84 4,17 -
2,45 3,84 4,17 =
2,45 3,84 4,17 -
Max. head Thickness of sandwich t,
displacement panel (component I1)
[mm]
u see Tab. 5

Declaration of Performance No 040883-BIMO02 - v. 1.02 | www.tecfi.it




Tecfi S.p.A. - Fixing Systems
e c l h a Head Office:

ake our work S.S. Appia km.193 - 81050 Pastorano (CE) - Italy
Fixing Systems % 150 9001 tel. (+39).0823.88.33.38 - fax (+39).0823.88.32.60
150 14001 www.tecfi.it info@tecfi.it

Declaration of Performance No 040883-BIM02
According to the Regulation EU No 305/2011

BIMO2 - BIMO2 with accessories
Manufacturer: Tecfi S.p.A. - S.S. Appia, km 193 - 81050 Pastorano (CE), Italia

11 - Accessories for BIMO02 covered by ETA*

Item code Image Dimension Material Washer color
i : A2 (AISI 304) stainless steel with EPDM
CB 03 67 025 ’W 6,7 x 25 mm bonded washer (gasket)

* Accessories covered by European Technical Assessment, if installed with Tecfi ETA-CE screws

11.1 - Declared performance according to EAD 330047-01-0602 of the screw with an accessory of tab.11

Characteristic ty1orty, by
loads (component |) (component ")
[KN]
Ve see Tab. 5
2,45 3,38 3,38 3,38
2,45 3,84 4,39 4,39
2,45 3,84 4,39 4,39
2,45 3,84 5,98 5,98
2,45 3,84 6,49 6,49
N, 2,45 3,84 6,49 6,49
2,45 3,84 6,49 6,49
2,45 3,84 6,49 -
2,45 3,84 6,49 -
2,45 3,84 6,49 -
2,45 3,84 6,49 -
Max. head Thickness of sandwich t,
displacement panel (component I1)
[mm]
u see Tab. 5

www.tecfi.it | Declaration of Performance No 040883-BIM02 - v. 1.02




Tecfii

Fixing Systems

haake ya)ur work

1S0 9001

1S0 14001

Tecfi S.p.A. - Fixing Systems

Head Office:
S.S. Appia km.193 - 81050 Pastorano (CE) - Italy
tel. (+39).0823.88.33.38 - fax (+39).0823.88.32.60

www.tecfi.it info@tecfi.it

Declaration of Performance No 040883-BIM02

According to the Regulation EU No 305/2011

BIMO2 - BIMO2 with accessories
Manufacturer: Tecfi S.p.A. - S.S. Appia, km 193 - 81050 Pastorano (CE), Italia

12 - Accessories for BIMO02 covered by ETA*

Item code Image Dimension Material Washer color
CXM 00 06 016 Aluminium -
CXM 01 06 016 RAL 9002
CXM 02 06 016 @ 16 (EPDM) RAL 8017
CXM 03 06 016 @ 19 (Metal) Painted aluminium RAL 3009
CXM 05 06 016 RAL 8004
CXM 08 06 016 RAL 9006

* ltem covered by European Technical Assessment ETA 18/0713, if installed with Tecfi ETA-CE screws of length greater or equal than 40 mm.

12.1 - Declared performance according to EAD 330047-01-0602 of the screw with an accessory of tab.12

Characteristic
loads

[KN]

Vi

Ny

Max. head
displacement

[mm]

tN,l or tle

(component 1)

Thickness of sandwich
panel

by
(component I1)

see Tab. 5
1,29 1,29 1,29 1,29
2,03 2,03 2,03 2,03
2,03 2,03 2,03 2,03
2,45 2,64 2,64 2,64
2,45 3,04 3,04 3,04
2,45 3,04 3,04 3,04
2,45 3,04 3,04 3,04
2,45 3,04 3,04 -
2,45 3,04 3,04 -
2,45 3,04 3,04 -
2,45 3,04 3,04 -

y
(component I1)
see Tab. 5

Declaration of Performance No 040883-BIMO02 - v. 1.02 | www.tecfi.it



Tecfi S.p.A. - Fixing Systems
e c l h a Head Office:

ake our work S.S. Appia km.193 - 81050 Pastorano (CE) - Italy
Fixing Systems E 150 9001 tel. (+39).0823.88.33.38 - fax (+39).0823.88.32.60
150 14001 www.tecfi.it info@tecfi.it

Declaration of Performance No 040883-BIM02
According to the Regulation EU No 305/2011

BIMO2 - BIMO2 with accessories
Manufacturer: Tecfi S.p.A. - S.S. Appia, km 193 - 81050 Pastorano (CE), Italia

13 - Accessories for BIMO02 covered by ETA*

Item code Image Dimension Material Washer color

@ 16 (EPDM)

FIM 04 06 016 @ 19 (Metal)

A2 stainless steel -

* [tem covered by European Technical Assessment ETA 18/0713, if installed with Tecfi ETA-CE screws of length greater or equal than 40 mm.

13.1 - Declared performance according to EAD 330047-01-0602 of the screw with an accessory of tab.13

Characteristic ty1orty, t,
loads (component |) (component ")
[KN]
Vi see Tab. 5
1,77 1,77 1,77 1,77
2,38 2,38 2,38 2,38
2,38 2,38 2,38 2,38
2,45 2,96 2,96 2,96
2,45 3,31 3,31 3,31
Ny 2,45 3,31 3,31 3,31
2,45 3,31 3,31 3,31
2,45 3,31 3,31 -
2,45 3,31 3,31 .
2,45 3,31 3,31 =
2,45 3,31 3,31 -
Max. head Thickness of sandwich it
displacement panel (component I1)
[mm]
u see Tab. 5

www.tecfi.it | Declaration of Performance No 040883-BIM02 - v. 1.02




Tecfi S.p.A. - Fixing Systems
ec l har Head Office:

ake VOUI‘ work S.S. Appia km.193 - 81050 Pastorano (CE) - Italy
Fixing Systems 1509001 tel. (+39).0823.88.33.38 - fax (+39).0823.88.32.60
I 150 14001 www.tecfi.it info@tecfi.it

Declaration of Performance No 040883-BIM02
According to the Regulation EU No 305/2011

BIMO2 - BIMO02 with accessories
Manufacturer: Tecfi S.p.A. - S.S. Appia, km 193 - 81050 Pastorano (CE), Italia

14 - Accessories for BIM02 covered by ETA*

Item code Image Dimension Material Washer color
DV 01 06 019 - 6,7 x 19 mm Painted steel with EPDM bonded washer RAL 9002 - Gray white
\/ (gasket)
DV 02 06 019 6,7x19mm Faintedsteelwith EPDMbonded washer oy a517  chocolate brown
(gasket)
DV 03 06 019 6,7 x 19 mm Painted steel with EPDM bonded washer RAL 3009 - Oxide red
(gasket)
DV 06 06 019 6,7 x 19 mm Painted steel with EPDM bonded washer RAL 6005 - Moss green
(gasket)
DV 07 06 019 6,7x19mm Faintedsteelwith EPDMbondedwasher) o) 5616 Gentian blue
(gasket)
DV 08 06 019 \ 6,7x19mm Faintedsteelwith EPDMbondedwasher o) 5006 _ \hite aluminium
(gasket)
CB 01 06 019 6,7x 19 mm Pre galvanized steel EPDM bonded )
washer

* Accessories covered by European Technical Assessment, if installed with Tecfi ETA-CE screws

Declaration of Performance No 040883-BIMO02 - v. 1.02 | www.tecfi.it




e tr Tecfi S.p.A. - Fixing Systems
w V Head Office:
to make yé:ur work S.S. Appia km.193 - 81050 Pastorano (CE) - Italy
— 50 5001 tel. (+39).0823.88.33.38 - fax (+39).0823.88.32.60

150 14001 www.tecfi.it info@tecfi.it

Declaration of Performance No 040883-BIM02
According to the Regulation EU No 305/2011

BIMO2 - BIMO02 with accessories
Manufacturer: Tecfi S.p.A. - S.S. Appia, km 193 - 81050 Pastorano (CE), Italia

14.1 - Declared performance according to EAD 330047-01-0602 of the screw with an accessory of tab.14

Characteristic tygorty, t,
loads (component 1) (component I1)
[KN]
Ve see Tab. 5
1,73 1,73 1,73 1,73
2,45 2,85 2,85 2,85
2,45 2,85 2,85 2,85
2,45 3,63 3,63 3,63
2,45 3,84 4,28 4,28
Ny 2,45 3,84 4,28 4,28
2,45 3,84 4,28 4,28
2,45 3,84 4,28 =
2,45 3,84 4,28 -
2,45 3,84 4,28 -
2,45 3,84 4,28 -
Max. head Thickness of sandwich t,
displacement panel (component II)
[mm]
u see Tab. 5

www.tecfi.it | Declaration of Performance No 040883-BIM02 - v. 1.02




Tecfi S.p.A. - Fixing Systems
ec l har Head Office:

ake your work S.S. Appia km.193 - 81050 Pastorano (CE) - Italy
Fixing Systems 1509001 tel. (+39).0823.88.33.38 - fax (+39).0823.88.32.60
I 150 14001 www.tecfi.it info@tecfi.it

Declaration of Performance No 040883-BIM02
According to the Regulation EU No 305/2011

BIMO2 - BIMO02 with accessories
Manufacturer: Tecfi S.p.A. - S.S. Appia, km 193 - 81050 Pastorano (CE), Italia

15 - Accessories for BIM02 covered by ETA*

Item code Image Dimension Material Washer color
DV 01 06 016 - 6,7 x 16 mm Painted steel with EPDM bonded washer RAL 9002 - Gray white
v (gasket)
DV 02 06 016 6,7x16mm Faintedsteelwith EPDMbondedwasher oy a517  chocolate brown
(gasket)
DV 03 06 016 6,7 x 16 mm Painted steel with EPDM bonded washer RAL 3009 - Oxide red
(gasket)
DV 06 67 016 6,7 x 16 mm Painted steel with EPDM bonded washer RAL 6005 - Moss green
(gasket)
DV 07 67 016 6,7x16mm | antedsteelwith EPDMbonded washer gy 501 _ Gentian blue
(gasket)
DV 08 67 016 6,7x16mm Faintedsteelwith EPDMbonded washer ) 5006 _ \hite aluminium
4 (gasket)
T . ’
CB 0106 016 6,7 x 16 mm Pre galvanized steel with EPDM bonded )
washer

Declaration of Performance No 040883-BIMO02 - v. 1.02 | www.tecfi.it




e tr Tecfi S.p.A. - Fixing Systems
w V Head Office:
to make yé:ur work S.S. Appia km.193 - 81050 Pastorano (CE) - Italy
— 50 5001 tel. (+39).0823.88.33.38 - fax (+39).0823.88.32.60

150 14001 www.tecfi.it info@tecfi.it

Declaration of Performance No 040883-BIM02
According to the Regulation EU No 305/2011

BIMO2 - BIMO02 with accessories
Manufacturer: Tecfi S.p.A. - S.S. Appia, km 193 - 81050 Pastorano (CE), Italia

15.1 - Declared performance according to EAD 330047-01-0602 of the screw with an accessory of tab.15

Characteristic tygorty, t,
loads (component 1) (component I1)
[KN]
Ve see Tab. 5
1,55 1,55 1,55 1,55
2,45 2,71 2,71 2,71
2,45 2,71 2,71 2,71
2,45 3,53 3,53 3,53
2,45 3,84 3,87 3,87
Ny 2,45 3,84 3,87 3,87
2,45 3,84 3,87 3,87
2,45 3,84 3,87 =
2,45 3,84 3,87 -
2,45 3,84 3,87 -
2,45 3,84 3,87 -
Max. head Thickness of sandwich t,
displacement panel (component II)
[mm]
u see Tab. 5

www.tecfi.it | Declaration of Performance No 040883-BIM02 - v. 1.02




Tecfi S.p.A. - Fixing Systems
ec l har Head Office:

ake your work S.S. Appia km.193 - 81050 Pastorano (CE) - Italy
Fixing Systems 1509001 tel. (+39).0823.88.33.38 - fax (+39).0823.88.32.60
I 150 14001 www.tecfi.it info@tecfi.it

Declaration of Performance No 040883-BIM02
According to the Regulation EU No 305/2011

BIMO2 - BIMO02 with accessories
Manufacturer: Tecfi S.p.A. - S.S. Appia, km 193 - 81050 Pastorano (CE), Italia

16 - Accessories for BIM02 covered by ETA*

Item code Image Dimension Material Washer color
DV 01 06 025 - 6,7 x 25 mm Painted steel with EPDM bonded washer RAL 9002 - Gray white
v (gasket)
DV 02 06 025 6,7 x 25 mm Painted steel with EPDM bonded washer RAL 8017 - Chocolate brown
(gasket)
DV 03 06 025 6,7 x 25 mm Painted steel with EPDM bonded washer RAL 3009 - Oxide red
(gasket)
DV 06 67 025 6,7 x 25 mm Painted steel with EPDM bonded washer RAL 6005 - Moss green
(gasket)
DV 07 67 025 6,7x25mm | aintedsteelwith EPDMbonded washer g 5010 _ Gentian blue
(gasket)
DV 08 67 025 6,7x25mm Faintedsteelwith EPDMbonded washer ) 5006 _ \hite aluminium
4 (gasket)
T . .
CB 01 06 025 6,7 x 25 mm Pre galvanized steel with EPDM bonded )
washer

Declaration of Performance No 040883-BIMO02 - v. 1.02 | www.tecfi.it




e tr Tecfi S.p.A. - Fixing Systems
w V Head Office:
to make yé:ur work S.S. Appia km.193 - 81050 Pastorano (CE) - Italy
— 50 5001 tel. (+39).0823.88.33.38 - fax (+39).0823.88.32.60

150 14001 www.tecfi.it info@tecfi.it

Declaration of Performance No 040883-BIM02
According to the Regulation EU No 305/2011

BIMO2 - BIMO02 with accessories
Manufacturer: Tecfi S.p.A. - S.S. Appia, km 193 - 81050 Pastorano (CE), Italia

16.1 - Declared performance according to EAD 330047-01-0602 of the screw with an accessory of tab.16

Characteristic tygorty, t,
loads (component 1) (component I1)
[KN]
Ve see Tab. 5
2,45 2,61 2,61 2,61
2,45 3,84 4,43 4,43
2,45 3,84 4,43 4,43
2,45 3,84 5,74 5,74
2,45 3,84 6,37 6,37
Ny 2,45 3,84 6,37 6,37
2,45 3,84 6,37 6,37
2,45 3,84 6,37 =
2,45 3,84 6,37 -
2,45 3,84 6,37 -
2,45 3,84 6,37 -
Max. head Thickness of sandwich t,
displacement panel (component II)
[mm]
u see Tab. 5

www.tecfi.it | Declaration of Performance No 040883-BIM02 - v. 1.02




Tecfi S.p.A. - Fixing Systems
e c l h a Head Office:

ake our work S.S. Appia km.193 - 81050 Pastorano (CE) - Italy
Fixing Systems E 150 9001 tel. (+39).0823.88.33.38 - fax (+39).0823.88.32.60
150 14001 www.tecfi.it info@tecfi.it

Declaration of Performance No 040883-BIM02
According to the Regulation EU No 305/2011

BIMO2 - BIMO2 with accessories
Manufacturer: Tecfi S.p.A. - S.S. Appia, km 193 - 81050 Pastorano (CE), Italia

17 - Accessories for BIMO02 covered by ETA*

Item code Image Dimension Material Washer color
@ 16 (EPDM) .
FIM 00 06 016 @ 19 (Metal) Pregalvanized steel
@ 25 (EPDM) .
NFM xx 06 016 @ 24 (Metal) Painted steel see catalogue

* [tem covered by European Technical Assessment ETA 18/0713, if installed with Tecfi ETA-CE screws of length greater or equal than 40 mm.

17.1 - Declared performance according to EAD 330047-01-0602 of the screw with an accessory of tab.17

Characteristic tyqorty, t,
loads (component |) (Component ")
[KN]
Vi see Tab. 5
1,53 1,53 1,53 1,53
2,06 2,06 2,06 2,06
2,06 2,06 2,06 2,06
2,45 2,53 2,53 2,53
2,45 2,89 2,89 2,89
Ny 2,45 2,89 2,89 2,89
2,45 2,89 2,89 2,89
LA 2,89 2,89 .
2,45 2,89 2,89 -
2,45 2,89 2,89 -
2,45 2,89 2,89 -
Max. head Thickness of sandwich t,
displacement panel (component I1)
[mm]
u see Tab. 5

Declaration of Performance No 040883-BIMO02 - v. 1.02 | www.tecfi.it




Tecfi S.p.A. - Fixing Systems
ec l har Head Office:

ke vour work S.S. Appia km.193 - 81050 Pastorano (CE) - Italy
Fixing Systems 1509001 tel. (+39).0823.88.33.38 - fax (+39).0823.88.32.60
I 150 14001 www.tecfi.it info@tecfi.it

Declaration of Performance No 040883-BIM02
According to the Regulation EU No 305/2011

BIMO2 - BIMO02 with accessories
Manufacturer: Tecfi S.p.A. - S.S. Appia, km 193 - 81050 Pastorano (CE), Italia

18 - Accessories for BIM02 covered by ETA*

Item code Image Dimension Material Washer color
FI1 00 06 025 Pregalvanized steel -
F104 06 025 @ 25 (EPDM) : )
@ 24 (Metal) A2 stainless steel
FI 0x 06 025 Painted A2 stainless steel see catalogue
@ 25 (EPDM) .
RZ 04 06 025 @ 24 (Metal) A2 stainless steel (AISI 441 LI)
NF xx 06 025 @ 25 (EPDM) Painted steel see catalogue
@ 24 (Metal) &
CX 00 06 025 Aluminium -
@ 25 (EPDM)
24 (Metal
CX 0x 06 025 ? 24 (Metal) Painted aluminium see catalogue

* [tem covered by European Technical Assessment ETA 18/0713, if installed with Tecfi ETA-CE screws of length greater or equal than 40 mm.

Item code Image Description ol S Material
[mm] [mm]
BxbxLxh
Size 15 26 x 18 x50 x 16
Size 20 36x22x50x13
Size 20 (narrow profile) 30x22x50x 14 .
AE xx Size 25 34%x26x50x 11 Zinc plated
. ?6,5 Painted steel
WE xx Size 25 (larger base) 38x26x50x11 Aluzine®
30 38 x30x50x 10
35 41x35x50x8
40 58 x40 x50 x 13
BxbxLxh
- Radius 20 ?6,5 40x20 x50 x 13 Zinc plated
KC xx Painted steel
’\ Radius 40 37 47x40x50x 10 Aluzinc®
BxL
CCE xx polyethylene sealing
gasket Zinc plated
? 6,5 37x75 Painted steel
Aluzinc®
CCM xx sealing washer in EPDM

* Accessories covered by European Technical Assessment, if installed with Tecfi ETA-CE screws

www.tecfi.it | Declaration of Performance No 040883-BIM02 - v. 1.02




e tr Tecfi S.p.A. - Fixing Systems
w V Head Office:
to make yé:ur work S.S. Appia km.193 - 81050 Pastorano (CE) - Italy
— 50 5001 tel. (+39).0823.88.33.38 - fax (+39).0823.88.32.60

150 14001 www.tecfi.it info@tecfi.it

Declaration of Performance No 040883-BIM02
According to the Regulation EU No 305/2011

BIMO2 - BIMO02 with accessories
Manufacturer: Tecfi S.p.A. - S.S. Appia, km 193 - 81050 Pastorano (CE), Italia

18.1 - Declared performance according to EAD 330047-01-0602 of the screw with an accessory of tab.18

Characteristic tygorty, t,
loads (component 1) (component I1)
[KN]
Ve see Tab. 5
2,45 3,84 7,19 7,19
2,45 3,84 7,19 7,19
2,45 3,84 7,19 7,19
2,45 3,84 7,19 7,19
2,45 3,84 7,19 7,19
Ny 2,45 3,84 7,19 7,19
2,45 3,84 7,19 7,19
2,45 3,84 7,19 =
2,45 3,84 7,19 -
2,45 3,84 7,19 -
2,45 3,84 7,19 -
Max. head Thickness of sandwich t,
displacement panel (component II)
[mm]
u see Tab. 5

Declaration of Performance No 040883-BIMO02 - v. 1.02 | www.tecfi.it




TQCfl har

keyourw rk
Fixing Systems

Tecfi S.p.A. - Fixing Systems

Head Office:

S.S. Appia km.193 - 81050 Pastorano (CE) - Italy
tel. (+39).0823.88.33.38 - fax (+39).0823.88.32.60
www.tecfi.it info@tecfi.it

180 8001
18014001

Declaration of Performance No 040883-BIM02
According to the Regulation EU No 305/2011

BIMO2 - BIMO02 with accessories
Manufacturer: Tecfi S.p.A. - S.S. Appia, km 193 - 81050 Pastorano (CE), Italia

20 - Label

o——

=g Tecfi S.p.A.
« ETA * c ‘
XXyy

Eumpenn Te:hmml Assess!

EAD 330047-01-0602
713 XXXX-CPD-YYYY

O ;

screws for sandwich panels

Tecfi’

@) —<chiave/AF: 10

T

1SO 9001 - ISO 14001
SISTEMI DI FISSAGGIO - FIXING SYSTEMS

Art.ltem: XX 01 06 020—

Vite TER autoperforante in acciaio
cementato, Zn (esente da CrVI)

(2]

HWH self drilling screw,
ZP (CrVI free)

®6x30/18———©
o0« | I g

200 \ 8026533 " 001675

Lotto/ Lot: check 9

[

@ codice articolo / Item Code

9 Descrizioni / Descriptions

e Immagine / Picture

0 Informazione extra / extra information

e Misura / Size

G Numero di pezzi per scatola / Number of Pieces per Box

@ codice EAN 13 / EAN 13 barcode
0 Lotto / Lot Number
0 Numero di ETA / ETA Number

@ Uso del prodotto previsto dallo standard Europeo applicato, livello di
prestazione dichiarato / Intended use of the product as laid down in the
European standard applied, level of performance declared

@ Numero di DoP / DoP Number
@ Gamma di prodotto / Product range
@ Specifica tecnica armonizzata / European Technical Specification

@ Le ultime due cifre dell’anno in cui il marchio é stato affisso per la prima volta
/ Last two digits of the year in wich the marking was first affixed

@ Link al DoP (tramite QR code) / Link to DoP (by QR code)

The performance of the product identified above is in conformity with the set of declared performances. This declaration of performance is
issued, in accordance with Regulation (EU) No 305/2011, under the sole responsibility of the manufacturer identified above.

Signed for and on behalf of the manufacturer by:

Name and function

Place and date of issue }Signature

President
Antonio Guarino

Pastorano, March 29th 2019

Al ¢

www.tecfi.it | Declaration of Performance No 040883-BIM02 - v. 1.02




